光學作業 應物三甲 09323379 許耀文
Problem 9-17

A filtered mercury lamp produced green light at 546.1 nm with a linewidth of 0.05 nm. The light illuminates a double slit of spacing 0.1 nm. Determine the visibility of the fringes on a screen 1 m away, in the vicinity of the fringe of order m = 20. (see problem 9-16) If the discharge lamp is replaced with a white light source and a filter of bandwidth 10 nm at 546 nm, how does the visibility change?

Sol:

代入9-16公式

V = 1 - (20×0.05/546.1) = 0.998

V = 1 - (20×10/546) = 0.63

